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Sixth Semester B.E. Degree Examination, Aug./Sept.2020
Gryptographyo Network Security and Gyber Law

Time: 3 lrrs. Max' Mail<s: 8C

Note: Answer any FIVE Jull questions, choosing ONE fntt question from each module"

i\lodulc- I

I a. Explairr Euclid's algoritiln to find gcd of tu,o integers with cxamplc^ (()7 \larris;

b. Explain the following Algebraic structures witl'r exarnple:
(i) Groups (ii) Rings (iii) Fields 1(le \tarlrsr

alphabetic
ES constn

Explain monoalphabetic and polyalphabetic ciphen with examples. (l0 Nlariis)

Explain the DES construction rvith a neat diagram" (06 Ntarlis;

Ir- -t,-t^ I

3 a. Explain RSA algorithm with suitable example. (10 Vlarlis)

b" Explain Weak Collision Resistanceand Strong a"t,t:t:i*esistance with examp 
i,r, vrr.i,r:

7 a. Explain the authentication und *urtffii* key exchange in 802.lli with thc hclpr or'

OR
4 a. Explain the following :

(i) Hash-based MAC (ii) Digital Signatures (()ll :\iarirs;

b. Explain Diffie-Hellman key exchange with an examplc. (08 Nlarlrs,

Module-3
5 a. Explain the different PKI architectures. (08 \larlrsl

b" Explain Mutual authentication using shared secret-based and asymmetric hcy-irase,i

authenticatron (()8 \lrr'.s'

OR
6 a" How the sequence of messages exchanged between the client, the Kerberos setvers arld th..

requested servers? Explain with diagram. (08 r\tarlrs;

b. Explain the main mode and aggressive mode of Internet key exchange protocol. (08 ,\tarlis;

diagram.(()S}tariis;
b" List out and explain the different worm characteristics. (08 Nlarlrsl

OR
8 a, Explain the fbllowing teclinoiogies of web ser,rices with suitable examples:

(il XML (ir; SOAF. (o8 rllariisi

b. Explain the different tlpes of Intrusion Detection Systems. ({}8 Ntarris'

I of-2

2a.
b.



Nlodulc-5
\Vhat is the [nfonnation Technology Act? Discuss the aim and objectives.

Dcscribc the provisions of the IT Act as regards thc following :

(i) Legal rccognition of electronic records

{ r: } Atttltcitltcatiotr of clcctronic rccords.
(rrr t Rete ntion of e lectronic records
(ri.) Publications of rule s, regulations etc., in the Electronic Gazette.

. 'a:t ..

OR
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(06 Marks)

(10 Marks)

(08 Marks)

(08 Marks)

9a.
b

10 a.

b, for
\\'lro is a controllcr'7 Out
I )i,scr;ss thc penaltics
(i) damage to a co
(ii) tailure to fumia[ information, retum, etc.LU lullllBll *llvaltl@urvu, rv&urgt vtvo;.-
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Examination, Aug./Sep t.2020Sixth Semester B.E. Degree
Gomputer Graphics and Visualization

Time: 3 hrs. Max. Marks: ii0

Note: Answer urlt f (yB, ill questions, cltoosing OliE full question from each module .
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Module-l
List and explain any six application of computer graphics.1a.

b.

r : 10" solve
octant in the

(06 \'i a rii,;)

(10 \larirs)

(05 liar:;,;)
the midpoint oircie
tirst quadrartt liolt

(l I \ltrrlrs)

Explain Refresh Cathod Ra,v Tube with diagram.

OR
2a.

b.

5a.
b.

Describe 3D translation and scaling.
Explain window to viewport transformation"

(08 \'ir,r1rs)

(08 \'ll ri::;)

(08 li:irirs)

(08 \ii,r'tr;;)

(08 \lr,r:,i)
(08 \ir,r!ir)

(l 0 \'i rr rl,;)
(06 -\'tt,rils)

(10 lirrrLr)
(06 l'ir,rIr)

(06 \'tr,rl:r)
(10 \ [ri r::rl)

(.06 \i:,ri:s)
events arrd
(10 \'t:,rl;,;)

(07 \'i:,rlls)
(09 i\'l;rrl;,;)

a. Describe the Menus with progran-i. 
Module-5

b. What is the necessity of progratnming event driven input?
kevboard event.

OR
a. Explain Rotating square in Animating Interactive programs'
b. Write shon notes on Bezier surfaces.

**>i<'&'k

l0

Describe window

la.
b.

8a.
b.



USN 15CS63

(06 !Iarks)
(06 NIarks)
(04 \lrrks)

(()ti NIa rks)

(10 \Inrks)
(06 N'larks)

(06 !ltrks)

((16 \Iarks)
(0;1 )l a rl<s)

Sixtlr Semester B.E. Degree Examination. Aug./Sept.202$
$ystem Software and Gompiler Design

'l'in-rc: 3lrrs. I\4ax. Mar[<s: 80

,,\o/c,.',.lrsrrter (tn)' FII:E lilll questiotrs, cltoositts ONE.fhll question t'i'ottt att(lt rtrodule.
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oR
2 tr. List tirc dil'ltrcr-rt iiclilrcssing moclcs rrscd in S[Ci,\h, Grve instrLrctions format Jilr each and

crplain thc atlclressing ntodc. (0tlN{arks)

b. ( icrtcrltc thc ntachittc coclc tirr thc lirllor,i,'itlg :

(') 0()00 -ls{ill lll)RL:('
(ii) 0004 s-rL R[T;\DR
(iii) 0008 LDll ilLlrN(iTll
1ir,) 0t)0A CLEAR X
Assunte the opcocles arc:

.ISUB:48rr, S1'L - 14rr, LDII:60H, CLEAR: B4rr

The LC value tbr : RDITEC : I 036rr

RE'|ADR : 0030rr, LENG'rH : 0rJ33 H

'l-he mnenronics values lor rcgisters atre

A- 0, x: l, L: 2,8 - 3, S :4,T = 5, F: 6, Pc : 8. SW - 9. (08 Marks)

N{odule-2
3 a. \Vitl-i an exautplc shon,horv relocatir-rr-r and Iinl<ing operatiolts arc perfitrtttecl. (t)lt \Iarks)

b. With source coclc. explain the rvorl<irrg of boot-strap loaclcr'. (0ll \larks)

OR
4 1. Explarn machine inclepenclent loadcr l'eatut'es givctt an crattlplc lvith implerllclltatiorl.

(0tt llarks)

b. \\/rth a ncat cliagi'zun, erpliiin holv object llrogran'l catr be proccssecl Lrsing linl<age loaclet and

Nloclule-I
I a. I':rplain SI(I Archrtccturc irt dctarl.

b. Fxplain the data strltL)turcs and Pass-l alcolithrr oISIC],/N{[ assctnblcr.
c. List out tl-r.- clilfbrcnces betn,ccrl s\,stenr softu,arc ancl applicatiot't sofiu'arc.

linl<age cclitor.

N'Ioclu le-3
5 a. With a neat cliagraur cxplatn the clitl'e rent phases of thc conrplier.

tl. Explain tl're concept of input buifering r,r,ith its intplcmerttxtiorr.

oR
6 tt. Dcscribc langttl,le l)l'occ\\lllg systclll t'i'itlt tt tlcat diagrarll.

il. \\'ri1e tlrc trattsition cliagrarl'i filr tlre lollou'ing :

(i)re lop (ii) trnsigncd nrtmbcrs (iii) iclentifiers

c. [)if furentiatc betwccu cornpiler ancl intcrpt-etcr.

I ol'2
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7 tt. (ionrlrr-tlc : (i) Irirst( ) arlcl Follou'( )

(ii) I']r'cdictir'e parsing ta[-rlc

Module-4

ftrr the given graumar

1scs63

(06 NIarhs)

( I () \1a rks)

(10 Nlarks)
(06 NIarhs)

(()6 NIarks)

(06 N{arks)

((I4 ll r rks)

sct-nr11r1ic rulcs
(0(r \larks)

u,. along witit
(06 \Iarks)

thrcc adciress

b.

D-+L;T
[-')L;id id

I' > tttl It'lll
(.onsiclct'thc Cllj(i with thc irro<JLtcliou sct'

tl it.

b.

9 a.

10 tl.

ir.

b.

Ir + E r'l tl-
T+TFIF
l;->i-"l alLl

['o nrpt-Ltc thc t) I Io u'irl s,

(i) I'IRST( ) ancl FOLLOW( )

(ii) Set ot-LR(0) rtenrs
(iii) SLR pnrsing table.

oR
C'omlrltte tLic lbllowillg lirr thc givcn grlitnttrat"

S+A.\
A'+ a t)

( j) LR(1) irr:nrs (ii) canonrcal Pa|sing table (iii) Vcrily lirr any Valid strrng'

write a short note on sliifi rcdLlce parsing rvith an exatlple.

N'Iodule*5
Write rhc annotatecl pa1'se tre e ancl its s-vntax clircctecl clcflnitiorl to obtain

1 x 2 i. 3 ,. (4 + ,5)n fbr the gratrmar

L. -'> Ir.rr

F'--+l- flT
T+I,BFiF
F -> (E) digit

'I'riurslale the arithnletic expre ssicxl :

3*-(bic)intcr
(i) QLradruples (ii) 1'riplcs (iii) hrdirect triples

Discr-tss various isst-tcs ill thc clesrgtl of codc gencratiotl'

OR
tsy consiclering an ar-ray- tvpc intf3l[3], writc s)/l-ltax directcd tt'atlslation \vith

ancl its itttnotatecl Parsc trec.

Obtttin tirc c1i|ectetl acyclic graph lbr the exprcssiou x * x * (Y v') u (yr z) *

the steps.

Cenerate assembly level langr-rage code (targel code) lbr the follorving

scqpcltce asstrltipgl that p atrci c1 arc in luctlrclrY locatiol-ts:

,v 
.. 

'1.(l

c1-.c1 r.tr
*p -'y
p'" p-1 4 (0.1 NIarhs)
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(06 Marks)
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Sixtlr Semestet' B.E. Degree Examination, Aug./Sept. 2020
Operating Systems

'l'in-rc: 3 hr-s. lVIax. Marks: 80

Note : .{rrsrrl(r (tnJ: FII'E /hll questiltls, cltoosing Ot\E full questiott .li'om eocll tnodule-

N'loclule*l

?i. [)cilnc opcratinq svstcr]ts. What arc mtrltiproccssot' s.vstcnts',) Erplailt thcir thrce main

irdvautagcs. (05 \{arks)

b. C'oprl.rarc rnulti-proqranllir'Ig ;rncl time sharing systellls. (05 llarks)
c. Point otrt anil cxplain thc l'arious opcrating systeltl scrviccs. (06 Marks)

oR
Wliat arc Lnicrol<emals'i Point ttrtt thcir itdvantage s.

What arc the tu,o rnodels of inter proccss conlr'Illlticatiotrs'/ What are tlte

r.r,cakncss olthe 1wo approachcs'?

c. Corrparc antl contrast, short tenn, nrediunl tenr and long ternr scheduling.

Module-2
Poipt oLrt and exnlain the various bencflts of multi threaded prcgl'rtnrtting.
Consiclel thc fli,e processcs arrive at time 0. in thc orcler given, rvith thc length of the CPU

burst sivcn in milliseconcls.
Plclces s Burst tintc

I'I l0
P: 29

Pr -)

P1 7

P-. 12

Colsjcier thc FCFS, SJF ancl RR (quantLur: l0ms) schecltrling, clrau'the Gantl cl-rart for

cach of the schccluling. Dctcnrine average rvaitir-rg titre altcl tltrnat'ottttd tirne ltrr all the

3 sclrecluling algorithm. Which algoritlinr u,oulcl give thc tninitnttm a\/erage waiting time'?
(12 N{arks)

OR
a. \\ihat is thc critical section problern point out and explain its thrce reclltiretnents. (05 Marks)

b. What lr;e ser-paphores. crplain how n-u.rtunl erclttsiott is inlplcmerltecl with scniaphores.
(05 N{ar-ks)

c. What is Dintrring philosophcr problem explain its t't-tot-titor solutiot"t. (06 Nlarks)

I of2
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5a.
b
C,

N{odulc-3
What are cicadlocks'l Poir-rt out and explairr its nccessary cotlditious. (0'1 NIarks)

Explain thc variotts tnethods o1'rccovcr!' llnlll clcadlocl<. (05 }larhs)

Consiclcr a svstc;r'r r.r.it[ 1lr,c 1]roccsses Pp tht'ortgh Pa atld thrcc rcsoLrrccs tvpcs A, U ancl C.

Ilesor:t.ce tl,pc A has I0 iustlinces, rcsource tyltc 13 has 5 itlstlittces alrcl resottrcc typc (i lias 7

1r.,r1n11c:cs sLlpllosc that^ at tirlc 1"1. thL- firllirrving 5t')allsl'Iot o1'tllc sr''slctu.

15C564

(()lt N'Iarks)

(06 trlarks)
(05 N'larlis)

(05 )larks)

(l() \larl<s)
(06 \'I a rk s)

(0ti \larks)
(0tl ]'I a rlts)

I)rau,' tiic nee.l matrir.
The scqucncc < P1. P:, I'1"P2, P,,''' ls salt: statc ornol. (07 Nlarks)

OR
1. l)e IrrTc pagin-u. Explain paging hardwat'c u,ilh a ncat block cliast'att-t. (0ti NIarks)

b. What is seglnentation'l E,xplain basic methoci of segtrentatiort rvith an exatnple. (08 Nlarks)

\lodulc-{
a. What is dcrlandpaging/ Expl:un tl'ic steps in liandling a pa-qe fault with a ncat ciiagratr-t.

(()lt NIarks)

b. Crlrsidcl lire lirll()\\ it1S. SCtluCllec

1,0, 1.2, 0, 3, 0,4, ', 3, 0. 3. 2.1.2.0, l, 7. 0. I

Flow many page falllts occllrs rvith three page 1l-arnes :

i) FIFO
ii) Optirnal pagc rcplaceutcut
iii) LRU page rcplacet-t-rcttt algonthm.

OR
a. What is a file'l What at'c its attrihtLte-s. explain file opcrations.

b. Explain lvltat arc the ciiffbrent typcs ol-filcs.
c. Lrplairr lilc syrtcrn rttoul)tiltg.

Nlodule-5
a. Explain variouts disl< schedLrling algolithm with an e xanlplc.

b. Explain access matrir protcctiort syste tr of O.S.

OR
a. Explain thc various. Cotnponettts of the Litlr:x systcnl.
b. Explair-r the process lltanagelnent in L,ittux.

Alloe at.tt)n I,1ar r\r'ailahlc
A B C A L] C' A B C

Po 0 1 (l 1 .5
1
-)

a
-) 3 1

Pr 2 0 0 .l 2 1

P, fJ 0 1 I 0 2

P-r 2 I I f ) 2

Pr 0 0 2 4 -) -)

10
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Sixth Semester B.E. Degree Examination, Aug./Sept.2020
Data Mining and Data Warehousing

Timc: 3 hrs. Max. Marks: [J0

Notc: lrr.sxrer onJ' FIL'E fitlt questiotts, choositts Oh'8./itllquestionJiom coch moclule.

1a.W1ratisaI)ataWarehousc.]I)iscLrss',H.,,'.*andtrendsirrdatal,t.arehousittg.

b. Erpiain in detaii the three' ticr l)ata tvareholtse arcliitccturc.

oR

a. DiscLrss thc concept ot'star. snou,llake ancl galaxv schcn-ris for rnulticlirnensional databases.
(08 Marks)

b. SLu.nutrrize the l'arious OLAP operations in the multiditlcnsional data rnodel. (0s NIarks)

Nkrdule-2
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Identify, the different inclexing lxethod used for OLAP clata rvitl.r brief explanation. (08 N'larks)

(08 Marks)
(08 Marks)

(08 Marks)

(08 Marks)

(08 Marks)

OR

4 a. What is Data M ining'l Exptain vurious data mining tasl<s, with suitable exampies. (08 Marks)

b. Explain different steps involved in preprocessing steps. Write any 3 challenges faced m Data

Diflbrentiate ROLAP. MOLAP and I-{OLAP sen'ers.

Mining.

Module-3

5 a. What is Apriori Algorithm? Horv it is r-rsed to find fiequent item sets'? Explain. (08 N'Iarks)

tr. lliustrate the advantages of using closed liequent itemsets, with an example . Show thc

relationships zltxong fi'equent, maxirnal frequent and closecl fiequent itemsets. (08 Nlarks)

OR

Erplain FP - growth algorithn'r for discovering fiequent itenrsets.

b. Briefly explairr tlie Objective Meas,.rres of Interestingness 1or evalLrating association pattems.
(08 Nlarhs)

Module-4

7 a. Define Cllassiflcation. Wirh a ncat figure, explain the gcneral approach for solving

classification moclel. (08 N{arks)

1 of2
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b. Consrder the lbllowing data set tbr a bitturv.

Module-5
a. What is Cluster analysis? I)iscuss the different types of clusters with examples. (Otl Nlarks)

b. Describe K - means clustering algorithm. What are its lir-nitations? (08l{arks)

OR
a. Discuss DBSCAN algorithm for clustcling. (Ott N{arks)

b. Explaip Agglon-rerative l{ierarchical Clustering Algorithm, with different proximrly betr.veen

clustet's' 108 \larks)

. :i:ui
,:..i.. .

-...'i

Ciassificatron problctu :

i) What is the. entropv o1'1hrs crrlicctron oltraining examplcs, u'ith respect to the posrtive

c Iit: s'.'

ii) What are the inlorntation gatrrs o[-a1 ancl a2 reliitive to these tlaining e.ramples?

iii; fora:, rvhich is acontinuous attribute, courpute the tnfomation gaill fbreverypossible
(08 NIarks)split.

0lr
8 a. What is a rule basecl classifrer'l Explain scquential covering algorithm in rule baseci

classifier'. (otl )larks)

b. Write an algoritl,rr-r fbr K Nearcst Neighbor (l(NN) classification. List the charactcristics

ol'Neurcst Nciglrbor clu:sifiet's. (()ll ll:rrks)

10

Instance 31 d2 Z3 Target cl:,rss

I T T +
) T T: 6.0 l

J T F 5.1)

4 ,8,.1-:r 4.0 +

5 P,, T 7.0

6 F T i0
1 F F 8.0

8 T F 'l (l +
:9 F T 5.0

t.0
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Max. Marks: 80

(06 Nlarks)

(06 Marks)

(10 Marks)

(04 Marks)

(12 Marks)

(08 Marks)
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2a.
b

3a.
b.

l'ime: 3 hrs.

4a.
b.

5a.

b.

Xt'Xr)0
c. Detrnc the lbllowing terrns with an cxample: i) Slack vaf iable

OR
Explain the assumptions of simplex rnethod.
LJse graphicral methocl and solve ibllowing problem:
Mlaximize Z: (rx1 * J1,
Srrbjeet tt) X1 - r. < 5

.3r1 * 2r- < l2

Module-2
Explain the general formulations of the LPP.
Using simpiex lnethod, solve the following:
Maximizc Z: 4xt * 3x: t 6x:
Strbject to 2xr * 3x: + 2x., < 440

4x1+l1r<470
2xr-5x:<430

where Xl, Xt, x: > 0

OR
Mention the basic steps of Big-M method.
Solve the fbllowirrg LPP using two-pl.rase n.rethod

Maximize Z,: -4xt - 3xz 9x:
SLrbject to 2xr + 4x: * 6x: > 15

6x1*xr+6x3>12
tvhere Xl, X2, x: > 0

(06 NIarks)

ii) Surplus variable.(04 Nlarks)

Module-3
What is dLrality? Explain the relationships between thc primal and the dual problcms.

Obtain the dual of the fbllowing prirlal problem:
Maxirnize Z: 5xt + (tx,t

Subject to x1 * 2x:: 5

-xl*5x">3
x is t-tnrestricted, x: > 0

GBG$$GH.EME

Sixth Semester B.E. Degree Examination, Aug./Sep t.2020
Operation Research

2'' "::'t'l;"'

lYotc: Attswey my FII'E full questions, choosing ONE Jitll question from euch module.

Module-I
I a. \\/hat is an Opcration ltescarch'l Explain the phases of OR. (08 Marks)

b A larme r has to plant trvo kinds of trees P and Q in a land oi'4400sq.m area. Each P tree

recluircs at least l5sq.nt and Q tree recluires 30sc1.nr area -i'he 
annual water requirement of P

trce is 30 units and Q trec rccprires 20 Lrnrts. A nrarinrum of 3300 units of water is available
annually. lt is also estimateci that the ratio of number of Q trces to the numbcr of P trees

shoLrld not be less than 6ll9 and not r"nore than l7l8. The rclLrrn per tree from P is expected
to be one anci hall'tinres as much as liom Q tree. lionnulate the problern as a LP model.

(06 Nlarks)
c. Dcllnc the lirilorving terms. i) Ireasrble solutron ii) Optirlal soh:tion. (02 Nlarks)

1 of2

(08 N{arks)



1scs6s3
OR

6 a. Write any 6 kcy relatiotrship betwcen primal to ciuai problerr-rs. (06 }larks)

b. Find the cllal of tiie fbllowing LPP. solve thc dual and hencc tlncl thc solution to the prir.nal

Minimize Z:2xt * 0x: + xr

Subject to x1 * x: - x: ) 5

xt-2x:+4xr>E
where Xr. Xz. x: > 0 (lo Marks)

Module-4
7 a. Irinci the initial basic feasibl. rolil*-6t the fullorvin-u problem, and also llnd the

transportation cost trslng North West Corner Rule.
;::.,:. S LrPP 11"

(05 Nlarks)

b. Write the procedure of Vogel's approritratiott tllethttd (06 N'Iarks)

c. Solve the following probietr using Vogcl's approximation rlrethod.

OR
-l-hree jobs are to be done by zi nlachi"t'. ttuttt I

40

hc total cost'l (0tl Nlarks)

I o I to I 6 I 1 | 60

l-- T=7 1 6-T-[ l sL)ls lr lo ls I sL)

Derttand 20 l0 50 50

F]-A-[[-[8] ]o
- -. - ,;-- -;- /^Al6 Ls l617l 60

t-s I.-l 6-T-s l so
''..:.1-lll

Demand 20 30 50 50
(05 Marks)

8a.

ri , M'i,,,,i. M
.tr ll8 l24 2xllll

JobJrm
ffi

b. Obtain the optimum solution for the 
-elygn_plgbEnLusing 

MODI ntethod.
What are the iob assignt-nents wh
Obtain the optimum solution for using MODI nrethod

i,,,.,,6
rr'r'll7lctrlrl,, 

,lll0l(, ltllttttt

s Slli-l 9]lo (08N{arks)

vill mir-rimize
rven problcn.l

2 3 1l .J:

I 0 6 I

5 8 l-5 9

75 275 3 2

: Module-S
a. What is a >acldle point? Give an cxatnplc. 104 )l:rrks)

b. Erplain the maxirnin-minitrax principle. Give an exatllplc. (06 \'Iarlis)

c. Solve the follor,ving galre, determirte thc optintLttn strategies and valuc of'the game:

fB rli -) r (06 \larks)-Jl

OR
Write the short note on thc following:

a. Metaltcurist rcs

b. l-abu scarclt
c. Sinrulatcd Anneallirrg
d. Genetic Algorithn-rs. (16 Nlarl<s)

4 6 B I
6 10 6 7

5 7 6 8

4 6 8 8

6 ,3 6 7

5 .7 6 I

:M:M+
.lr

Jz

24 28 32
'"',8' 13 t7 t9
l0 15 15 ^t1

10

Machine
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4a.
b.

c.

5a.
b.
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(04 L\{arks)
(06 Marks)

handles non-numeric
lbllou,ing shou,n trvo

(06 Marks)

(06 Marks)
(06 Marks)

(06 N'tarks)

(04 Marks)
(06 Marks)

(04 Marks)
(08 Marks)

Sixth Semester B.E. Degree Examination, Aug./Sept .2020
Python Application Programming

'l'ime: 3 hrs. Max. Marks: 80

Notc: ..lrtswer nny FIl,'E Jill questiotts, cltoosing OhrE.fitll question from eerclt module.
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I
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a,'
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i)
,t-=

a-
,a

.a-,1)

= 
)l)
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=:?7a)
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a.l

O
a-/
a
r
a
r'4
a

1a.
b

C.

Vlodule-1

lt x |] ll I ]l l'J:;.i]tl,;:il'*i::::xj 1f,,0 .,r,.,s i o n s rv ith exan, p r cs

Write a p1r1[sp progrant using try ancl except, so tltat voLlr progratr
inlrut gracclirlly by pnLrting il ntL'ssAgr.'ancl exiting thc progratr the
r)xecuii0n of tlre progranr
Enter Ilour"s . 20
l:rrler ltatc ninc
lrIr()r'. plelrse cntcr nUrncrie rnpLrt

l:tttct Itotu: .lirrty
I:rrrrr'. pleuse cnl.cr lruIilcl'ic irtltLrt.

()l{
a. Lxplain conditional execution, Alternative execution chained conditionals and nestecl

conditior-rals with exatnples. (08 N'Iarks)

b. Explain blcak arrcl continuc statemcllt rr ith cxiunples rn py'thon. (04 Marks)

c. tixplain',vith an eranrl'rle uhat arc fi'uitful functions and void functions. (04Nlarks)

c. DiscLrss tire string hanclling nre'tltoils rn py'thon n'ith examples.

3 a, Explain whilc ancl flor loops with .*uffiH' (04 rlarks)

b. Wr'itc a pl,thon prograln to find the largest vaiue tiornthe given set of acccpted values.

OR
Writc a py,thon program to check whither a given string is palindrotne or nct.

Explain r,vith examplc the syntax of tcad ( ). rvrite ( ) mcthods for a frle.

Develop a python progranr fbr creating a copy an existing file.

Module-3
Explain thc difference betlveen a list and a dictiorrary. (04 Marks)

Make a list o1'first ten lettcrs of thc alphabet then r-rsing the slice operatiotl do the follorving:

i) Print thc first three lettcrs fionr the list
ii) Print any threc letters fiot.l'l thc rrlicldle

iii) Plint the letters fionr 5'r'lctters to the ertd ol'the list.

c. DiscLrss the lists hanclling tLtnctiorTs in py'1hon u'ith eranlple.

1 of2
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OR

6 a. Di1'1'erentiatr- betu'eetl list anci tlictionary' (0tt Nlarks)

b. Definc tupte, erplain DSLJ pattern. \viitc a python cocle to clctertl-}ttrate tuplcs by sorling a

list olrvorcls lronl longc:st to sholtc:st using ltlops' (0'l Nlarks)

c. Explain the need of t{egular erprcssi0t"ts in pytholl langLtage (0'l Marks)

N{odu le-'l

7 a. lrxltlain classes ancl attributes in pl.thorl lattgungc 
,lr 

ith cxamples (05 N'larks)

b. Erplaur pLrrc fr_rnctir)ns ancl moclii'iers rvith cxarrples. (05 Nllarks)

c. Write a prograln tl.iat rLscs class to store the naure ftrtr,l r.nrrlrs of stttd,-'ttts [Jsc list to store the
(06 i\Iarks)

tlarks in three subjects

oR
8 a. Explain initialization tlrcthocl lvilh examplc ,.r , t04 Nlarks)

b. Write a .lrrn f{ectangle that has attritrutes lctr-uth ancl breacith aucl a lnetirod arca rvhicl]

returns the arca ol'the rectangle ' (06 Nlarks)

c. What rs opei-ator overloadrng? Writc phython code to overloacl 'r L r,I - " and " * "operator

by provicling the nTethods - - adcl- -. - - sub- 
-and -- - tnul -' 

(06 N{arks)

\lodule-5
9 a. Write a python coclc fbr ,"tt'i.r'infrl-," trlr',-,-o.txt filc fiom thc wcb and cort-tpute thc

frequency of eacl-r word in the filc' (06 Nlarks)

b. Writc a note on XML. (05 Nlarks)

c. Explain with a neal diagram of Service Oricntcd Architectlrre ' (05 r\Iarks)

OR

l0 a. Describe creatron of datirbase table Lrsing database cllrsor architecture. (08 \'larks)

b. Write a pytlton codc fbr creating .,rploy.. databasc, inserting records and sclecting thc

e-pioye.s working in thc colnpany. (08 Nlarks)

+**x*
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